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QUESTION 1

Which two statements about Cisco Nexus 1000V Series Switches are correct? (Choose two.) 

A. When VSM interfaces are created for a virtual machine, the VMware vSwitch port-group configuration is used initially,
which requires the creation of a port-group name for these interfaces and an appropriate VLAN. The simplest
configuration is to create a single port group (for example, VSM-Interfaces), that includes all the interfaces that use this
port group and the same VLAN. 

B. The mgmt0 interface on the VSM does not necessarily require its own VLAN. In fact, you can use the same VLAN to
which the VMware vCenter Server belongs. The VSM management VLAN is really no different from any other virtual
machine data VLAN. Alternatively, network administrators can designate a special VLAN for network device
management. 

C. Always deploy the Cisco Nexus 1000V Series VSM in pairs, with one VSM that is defined as the primary module and
the other that is defined as the secondary module on two separate hosts. 

D. The service console is a critical interface that resides on every logical server. 

E. mgmt 0 interface on the VSM always use VLAN 1 for communication with VEM modules. 

Correct Answer: BC 

 

QUESTION 2

Which Sticky method is supported by Cisco ACE? 

A. SIP 

B. SSL session ID 

C. scripted 

D. HTTP return code parsing 

Correct Answer: B 

Ref:http://www.cisco.com/c/en/us/td/docs/interfaces_modules/services_modules/ace/vA5_
1_0/configuration/getting/started/guide/ace_module_gsg/sticky.html 

 

QUESTION 3

In a Cisco Unified Computing System, where are SAN port channels connected to? 

A. Only to Cisco Fibre Channel switches 

B. Only to Cisco Fibre Channel switches in NPIV mode 

C. To any Fibre Channel switch 

D. Directly to storage arrays 
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E. Only to Nexus Switches 

Correct Answer: A 

 

QUESTION 4

On the Cisco Nexus 7000 switch, ACL capture sessions are supported on which two modules? (Choose two.) 

A. M1 modules 

B. M2 modules 

C. F1 modules 

D. F2 modules 

E. M3 modules 

Correct Answer: AB 

 

QUESTION 5

Which three statements about the configuration of vPC+ are true? (Choose three.) 

A. The FabricPath switch ID must be configured under the vPC domain. 

B. The virtual switch ID of vPC+ must be configured under the FabricPath domain. 

C. On the Cisco Nexus 7000 switch, F1 interfaces must be used as the vPC+ peer links. 

D. The vPC+ peer link must be configured as a Cisco FabricPath core port. 

E. The FabricPath subswitch ID must be configured under the vPC domain. 

F. There has to be atleast 4 virtual switches in the FabricPath domain. 

Correct Answer: ACD 

 

QUESTION 6

Which two types of multicast trees are supported by Cisco NX-OS? (Choose two.) 

A. private trees 

B. shared trees 

C. unicast trees 

D. anycast trees 

E. unidirectional trees 
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F. bidirectional trees 

Correct Answer: BF 

 

QUESTION 7

Which two statements about Cisco Nexus 1000V Series Switches are correct? (Choose two.) 

A. When VSM interfaces are created for a virtual machine, the VMware vSwitch port-group configuration is used initially,
which requires the creation of a port-group name for these interfaces and an appropriate VLAN. The simplest
configuration is to create a single port group (for example, VSM-Interfaces), that includes all the interfaces that use this
port group and the same VLAN. 

B. The mgmt0 interface on the VSM does not necessarily require its own VLAN. In fact, you can use the same VLAN to
which the VMware vCenter Server belongs. The VSM management VLAN is really no different from any other virtual
machine data VLAN. Alternatively, network administrators can designate a special VLAN for network device
management. 

C. Always deploy the Cisco Nexus 1000V Series VSM in pairs, with one VSM that is defined as the primary module and
the other that is defined as the secondary module on two separate hosts. 

D. The service console is a critical interface that resides on every logical server. 

Correct Answer: BC 

 

QUESTION 8

Which three options are valid SPAN sources? (Choose three.) 

A. VLANs, because when a VLAN is specified as a SPAN source, all supported interfaces in the VLAN are SPAN
sources 

B. fabric port channels connected to the Cisco Nexus 2000 Series Fabric Extender 

C. Layer 2 subinterfaces 

D. satellite ports and host interface port channels on the Cisco Nexus 2000 Series Fabric Extender 

E. Layer 3 subinterfaces 

F. Remote Span Ethernet Ports 

Correct Answer: ABD 

 

QUESTION 9

Refer to the exhibit. 
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Which two statements are true? (Choose two.) 

A. Three pin groups are configured: one for the port-channel 10 in fabric interconnect B, one for int el/32 in fabric
interconnect B, and one for int e1/31 in fabric interconnect B. 

B. Changing the target interface for an existing SAN pin group disrupts traffic for all vHBAs that use that pin group. The
fabric interconnect performs a log in and log out for the Fibre Channel protocols to repin the traffic. 

C. To configure pinning for a server, you must include the SAN pin group in a vNIC policy. The vNIC policy is then
included in the service profile assigned to that server. All traffic from the vNIC travels through the I/O module to the
specified uplink Fibre channel port. 

D. In Fibre Channel switch mode, SAN pin groups are irrelevant. Any existing SAN pin groups are ignored. 

E. Edit this to show switch mode 

Correct Answer: BD 

Ref: http://www.cisco.com/c/en/us/td/docs/unified_computing/ucs/sw/gui/config/guide/1-0-
2/b_GUI_Config_Guide/GUI_Config_Guide_chapter19.html Also see PDF: Configuring SAN Pin Groups 

 

QUESTION 10

Refer to the exhibit. 
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Which three statements about the exhibit are true? (Choose three.) 

A. The differentiating characteristic of the Cisco Nexus 1000V Series is that it does not run Spanning Tree Protocol. This
characteristic may seem to be a significant departure from other Ethernet switches, which might potentially cause
catastrophic network loops. However, in reality, the Cisco Nexus 1000V Series implements a simple and effective loop-
prevention strategy that does not require Spanning Tree Protocol. 

B. Because the Cisco Nexus 1000V Series does not participate in Spanning Tree Protocol, it does not respond to BPDU
packets, nor does it generate them. BPDU packets that are received by Cisco Nexus 1000V Series Switches are
dropped. 

C. The Cisco Nexus 1000V Series uses a simple technique to prevent loops. Like a physical Ethernet switch, the Cisco
Nexus 1000V Series Switch performs source and destination MAC address lookups to make forwarding decisions. The
VEM applies loop- prevention logic to every incoming packet on Ethernet interfaces. 

D. The Cisco Nexus 1000V Series uses a simple technique to prevent loops. Like any logical Ethernet switch, the Cisco
Nexus 1000V Series Switch performs source and destination MAC address lookups to make forwarding decisions. The
VEM applies loop- prevention logic to every incoming packet on Ethernet interfaces. 

E. Because the Cisco Nexus 1000V Series participates in Spanning Tree Protocol, it responds to BPDU packets, and it
generate them. BPDU packets that are received by Cisco Nexus 1000V Series Switches are dropped. 

Correct Answer: ABC 

 

QUESTION 11

Which two statements about the FCIP Write Acceleration feature are true? (Choose two.) 

A. WAN throughput is maximized by minimizing the impact of WAN latency for write operations. 

B. The Write Acceleration feature does not have to be enabled on both sides of the FCIP link. 

C. The FCIP Write Acceleration feature can only be used with multilink port channels if they are constructed with port
channel protocol. 

D. The Write Acceleration feature cannot be used across FSPF equal cost paths in FCIP deployments. 
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E. The Write Acceleration feature works by immediately returning the SCSI status on the initiator side of the FCIP link. 

Correct Answer: AD 

 

QUESTION 12

Which switch is not a valid Cisco Nexus 7000 Series model? 

A. Cisco Nexus 7000 4-slot switch 

B. Cisco Nexus 7000 8-slot switch 

C. Cisco Nexus 7000 9-slot switch 

D. Cisco Nexus 7000 10-slot switch 

E. Cisco Nexus 7000 18-slot switch 

Correct Answer: B 
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